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1. If	the	length,	breadth	and	T.S.A	of	a	cuboid	are	13.00	cm,	5.00	cm	and	562.00	sq.cm	respectively,	its	height	is

(i) 7.00	cm (ii) 12.00	cm (iii) 17.00	cm (iv) 9.00	cm (v) 15.00	cm

2. Find	the	volume	of	the	given	object	if	each	individual	cube	is	1	cu.cm

(i) 32	cu.cm (ii) 29	cu.cm (iii) 31	cu.cm (iv) 30	cu.cm (v) 28	cu.cm

3. If	the	length,	height	and	T.S.A	of	a	cuboid	are	20.00	cm,	10.00	cm	and	700.00	sq.cm	respectively,	its	L.S.A	is

(i) 474.00	sq.cm (ii) 524.00	sq.cm (iii) 505.00	sq.cm (iv) 483.00	sq.cm (v) 500.00	sq.cm

4. If	the	length,	height	and	volume	of	a	cuboid	are	14.00	cm,	7.00	cm	and	588.00	cu.cm	respectively,	its	breadth	is

(i) 8.00	cm (ii) 7.00	cm (iii) 4.00	cm (iv) 5.00	cm (v) 6.00	cm



5. If	the	volume	of	a	cube	is	4913.00	cu.cm,	its	L.S.A	is

(i) 1006.00	sq.cm (ii) 1156.00	sq.cm (iii) 1316.00	sq.cm (iv) 1016.00	sq.cm (v) 1436.00	sq.cm

6. If	the	length,	height	and	volume	of	a	cuboid	are	17.00	cm,	5.00	cm	and	850.00	cu.cm	respectively,	its	T.S.A	is

(i) 610.00	sq.cm (ii) 636.00	sq.cm (iii) 597.00	sq.cm (iv) 582.00	sq.cm (v) 625.00	sq.cm

7. Find	the	volume	of	the	given	object	if	each	individual	cube	is	1	cu.cm

(i) 2	cu.cm (ii) 5	cu.cm (iii) 4	cu.cm (iv) 6	cu.cm (v) 3	cu.cm

8. Find	the	volume	of	the	given	object	if	each	individual	cube	is	1	cu.cm

(i) 7	cu.cm (ii) 8	cu.cm (iii) 6	cu.cm (iv) 9	cu.cm (v) 10	cu.cm

9. If	the	breadth,	height	and	T.S.A	of	a	cuboid	are	16.00	cm,	6.00	cm	and	1028.00	sq.cm	respectively,	its	volume	is

(i) 1644.00	cu.cm (ii) 1754.00	cu.cm (iii) 1884.00	cu.cm (iv) 1954.00	cu.cm (v) 1824.00	cu.cm



10. If	the	breadth,	height	and	L.S.A	of	a	cuboid	are	16.00	cm,	17.00	cm	and	1156.00	sq.cm	respectively,	its	T.S.A	is

(i) 1892.00	sq.cm (ii) 1582.00	sq.cm (iii) 1852.00	sq.cm (iv) 1732.00	sq.cm (v) 1602.00	sq.cm

11. If	the	length,	breadth	and	volume	of	a	cuboid	are	17.00	cm,	5.00	cm	and	765.00	cu.cm	respectively,	its	height	is

(i) 9.00	cm (ii) 7.00	cm (iii) 8.00	cm (iv) 10.00	cm (v) 11.00	cm

12. If	the	breadth,	height	and	L.S.A	of	a	cuboid	are	10.00	cm,	6.00	cm	and	348.00	sq.cm	respectively,	its	volume	is

(i) 1140.00	cu.cm (ii) 1380.00	cu.cm (iii) 980.00	cu.cm (iv) 1320.00	cu.cm (v) 960.00	cu.cm

13. If	the	length,	breadth	and	L.S.A	of	a	cuboid	are	17.00	cm,	16.00	cm	and	990.00	sq.cm	respectively,	its	height	is

(i) 12.00	cm (ii) 18.00	cm (iii) 10.00	cm (iv) 20.00	cm (v) 15.00	cm



14. If	the	length,	height	and	T.S.A	of	a	cuboid	are	20.00	cm,	13.00	cm	and	1774.00	sq.cm	respectively,	its	volume	is

(i) 5060.00	cu.cm (ii) 4940.00	cu.cm (iii) 4710.00	cu.cm (iv) 5220.00	cu.cm (v) 4910.00	cu.cm

15. If	the	volume	of	a	cube	is	2197.00	cu.cm,	its	T.S.A	is

(i) 1144.00	sq.cm (ii) 854.00	sq.cm (iii) 1234.00	sq.cm (iv) 984.00	sq.cm (v) 1014.00	sq.cm

16. Find	the	volume	of	the	given	object	if	each	individual	cube	is	1	cu.cm

(i) 6	cu.cm (ii) 3	cu.cm (iii) 4	cu.cm (iv) 2	cu.cm (v) 5	cu.cm

17. If	the	breadth,	height	and	volume	of	a	cuboid	are	12.00	cm,	11.00	cm	and	2640.00	cu.cm	respectively,	its	length
is

(i) 25.00	cm (ii) 20.00	cm (iii) 15.00	cm (iv) 17.00	cm (v) 23.00	cm

18. If	the	length,	breadth	and	L.S.A	of	a	cuboid	are	17.00	cm,	7.00	cm	and	720.00	sq.cm	respectively,	its	volume	is

(i) 1705.00	cu.cm (ii) 1785.00	cu.cm (iii) 1845.00	cu.cm (iv) 2035.00	cu.cm (v) 1665.00	cu.cm



19. If	the	length,	breadth	and	height	of	a	cuboid	are	17.00	cm,	10.00	cm	and	13.00	cm	respectively,	its	volume	is

(i) 2050.00	cu.cm (ii) 2030.00	cu.cm (iii) 2340.00	cu.cm (iv) 2210.00	cu.cm

20. If	the	L.S.A	of	a	cube	is	576.00	sq.cm,	its	T.S.A	is

(i) 840.00	sq.cm (ii) 851.00	sq.cm (iii) 891.00	sq.cm (iv) 879.00	sq.cm (v) 864.00	sq.cm

21. If	the	length,	breadth	and	height	of	a	cuboid	are	15.00	cm,	10.00	cm	and	13.00	cm	respectively,	its	T.S.A	is

(i) 938.00	sq.cm (ii) 963.00	sq.cm (iii) 927.00	sq.cm (iv) 950.00	sq.cm (v) 954.00	sq.cm

22. Find	the	volume	of	the	given	object	if	each	individual	cube	is	1	cu.cm

(i) 10	cu.cm (ii) 7	cu.cm (iii) 8	cu.cm (iv) 6	cu.cm (v) 9	cu.cm

23. Find	the	volume	of	the	given	object	if	each	individual	cube	is	1	cu.cm

(i) 25	cu.cm (ii) 24	cu.cm (iii) 23	cu.cm (iv) 26	cu.cm (v) 22	cu.cm



24. If	the	L.S.A	of	a	cube	is	484.00	sq.cm,	its	volume	is

(i) 1581.00	cu.cm (ii) 1311.00	cu.cm (iii) 1491.00	cu.cm (iv) 1331.00	cu.cm (v) 1091.00	cu.cm

25. If	the	length,	height	and	L.S.A	of	a	cuboid	are	12.00	cm,	6.00	cm	and	276.00	sq.cm	respectively,	its	volume	is

(i) 792.00	cu.cm (ii) 820.00	cu.cm (iii) 785.00	cu.cm (iv) 809.00	cu.cm (v) 768.00	cu.cm
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